Если условие у тебя записано без ошибок решаем так:
 EQ \b(8x-16)\b(x2-1)=\b(4x2-2x1)\b(2x1) 
 EQ \b(8x-16)\b(x2-1)=\b(4·2x-2·1x)\b(2·1x) 
 EQ \b(8x-16)\b(x2-1)=\b(8x-2x)\b(2x) 
 EQ \b(8x-16)\b(2x-1)=\b(8x-2x)\b(2x) 
 EQ \b(8x-16)\b(2x-1)-\b(8x-2x)\b(2x)=0 
 EQ \b(8x-16)\b(2x-1)-6x2x=0 
 EQ \b(8x-16)\b(2x-1)-6x\s\up8(2)2=0 
 EQ \b(8x-16)\b(2x-1)-12x\s\up8(2)=0 
 EQ \b(16x\s\up8(2)-8x-32x+16)-12x\s\up8(2)=0 
 EQ \b(16x\s\up8(2)-40x+16)-12x\s\up8(2)=0 
 EQ 16x\s\up8(2)-40x+16-12x\s\up8(2)=0 
 EQ 4x\s\up8(2)-40x+16=0 
 EQ x\s\up8(2)-10x+4=0 
 EQ D=b\s\up8(2)-4ac=\b(-10)\s\up8(2)-4·1·4=84 
 EQ x\s\do8(1,2)=\f(-b±\r(D);2a) 
 EQ x\s\do8(1)=\f(10-2\r(21);2·1)=5-\r(21) ; EQ  x\s\do8(2)=\f(10+2\r(21);2·1)=5+\r(21) 
 ответ:  EQ x=5-\r(21)\;x=5+\r(21) .
